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Write your answers on the Answer Sheet.
Note: 
At least one of the choices a) – e) is the correct answer.


On some problems, your answer might be slightly different than the correct answer due to round off of calculations using a calculator. 

Given a function 
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The 2nd term in the Taylor Series Expansion of 
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2.
The 2nd term in 
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3.
The first order truncated Taylor Series Expansion of 
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d)  0.8660
e)  0.7071
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The error 
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 a)  0.2473
b)  
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c)  0
d)  0.9069
e)   0.4761
5.
Which of the following statements is false?

a)  
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e)   Today is either Mon or Wed
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Consider the function 
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6.
A bracketing method is used to find the real root of 
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  Which of the following is not a valid choice for the initial bracket?
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7.
The Bisection method has been selected to find the root.  The method will converge to the real root at 
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 if the initial bracket is chosen as 
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a)  True    b)  Maybe    c)  False    d)  No way of knowing    e)  If you're lucky

8.
The Bisection method and False Position method are used to find the root.  The initial bracket is 
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 for both methods.  After the first iteration 

a) The False Position method initial estimate is 
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b) The False Position method produces an estimate closest to the real root?



c)  Both methods produce the same estimate of the root.     

d)  The Bisection method initial estimate is 
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e)  The Bisection method produces an estimate closest to the real root?
9.
The third estimate resulting from the Bisection method with initial bracket 
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a)  2.25          b)   1.935        c)  1.5         d)  1.875          e)  2.0625
10.
The first estimate resulting from the False Position method with initial bracket 
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a)  0.1325       b) 0.5517        c)  3.1682       d)  2.3785       e)  1.0027
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An root solving method is used to locate possible roots of 
[image: image46.wmf].
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 The initial guess is 
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Which of the following is not a possible choice for the function 
[image: image48.wmf]()

gx

 when using the Simple Fixed Point Iteration method?  
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12.
With 
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 the Simple Fixed Point Iteration method is

a)  may converge depending on the initial guess

b)  guaranteed to diverge.


c)  guaranteed to converge.

d)  may diverge depending on the initial guess.


e)  converges to a root at 
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13.
With 
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 the 5th iteration of the Simple Fixed Point Iteration method results in a value for 
[image: image57.wmf]5

x

 equal to

a)  0       b)  0.5143       c)  0.1035       d)  0.3471       e)  0.4150
14.
The approximate relative error (in %),  
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a)  42.62        b)  23.94       c)  12.21        d)  67.80        e)  15.68  
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Given that 
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a)  1.6094       b)  -1.6094       c) 4      d)  0.6725       e)  -0.9591       
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A plot of the function  
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16.
The function 
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a)  1            b)  0            c)  2            d)  infinite            e)  complex

roots in the interval 
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17.
If R is the root of 
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18.
Using the Newton Raphson method to find successive estimates of the root, the difference 
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19.  With an initial guess of 
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 the first iterated value 
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20.
Which of the following statements about the Newton Raphson method is false?  The initial guess is 
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a)  Convergence is quadratic.


b)  Convergence is independent of
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c) 
Convergence is usually faster than the Simple Fixed Point Iteration method.


d)  It fails to converge to a root of 
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